Name Hoor!
All Operations with Integers (G)

Use an integer strategy to find each answer.

6 x (-6) = (-5) x4 = -D+(-2)=
(-3)+ (-7) = 32+ 8= (-6) + (-9) =
1 -(-6)= 8-6= 6-5=
(-2)+(-9) = 0 x 4= (-2) x 9=
(-15) = (-5) = 4 x (-2) = 79 =
(-2) +(:3) = 9+(-7)= (-32)+ 4=
24+ (-4)= (-D+(-2)= 7-3=
(-5)+(7)= 7-(-6)= I % (-9) =
9-9= 45 = (-5) = 4x9=
28+ 7= 1-(-9)= 9+ 1=
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All Operations with Integers (G)

Use an integer strategy to find each answer.

6+ (-14) = 15+3= 14 - (-15) =
15 % (-14) = (-11) x (-12) = 8 + (-8) =
(-15) + (-15) = (-48) + (-4) = (-143) + 11 =
(-7+7= (-13)-(-9)= (-1 +(-5)=
(-90) + 9 = 1-(-4)= 13+6=

7+ (-2) = (-2)+8= 18+2=
-1)-6= 1)+ (-7)= 1-4=
9+(-1)= 8+ 15= (-9) x 11 =
(-3)+5= 12-8= 24+ 4=
-N+17= 8-14= 12-11=
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